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1 322 | IBEH BEF fit] 5 110 IN—T 1 110
2 524 AK EF Xl 100 10km 1 100
3 320 EREE {E£ fif] 5 99 IN—T 2 99
4 507 Bl AF X 95 5km 1 95
5 304 e ®F 245t 90 IN—T 3 90
5 533 =H #F =2t 90 10km 2 90
7 314 | KNIl & 2] 86 5km 2 86
8 302 | LA FEF 2] 83 IN—T 4 83
9 313 KB BE AT T 82 10km 3 82
10 312 ik =£E =28t 18 5km 3 78
11 306 A &F SEAT 76 IN—T 5 76
12 503 AL BEF HEHET 75 10km 4 75
13 519 N BBMH A 5km 4 71
14 321 AK BEF | dkBEET 70 IN—T 6 70
15 319 RA FiK it 5 69 10km 5 69
16 318 AR =R AHET 66 N—T 7 66
17 303 IRE E AHEM 64 10km 6 64
18 506 | K F£&EM SEFET 62 IN—T 8 62
19 301 nmo #g¥ i 60 10km 7 60
20 323 AR #F fif] 5 T 57 IN—T 9 57
21 315 2@ 2% ZEET 56 10km 8 56
22 305 Rl 2EBEF| £0EH 53 N—T 10 53
23 311 iR B+ mE™ 52 10km 9 52
24 516 BER AR EHm 50 IN—T 11 50
25 308 W BHE BiEH 48 10km 10 48
26 317 HE =M SEART 46 IN—T 12 46
27 536 | TG BEFF fif] 5 43 IN—T 13 43
28 316 Bk SH X -1l 40 IN—T 14 40
29 539 | #EH EHE=x 2% ZEET 37 IN—T 15 37
30 307 MHE p>5F R SRHT 35 N—T 16 35
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